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2. WA, BN /EAB = 0T E WA ERFERE, W R WA EMZE ¢ D
A FEREAMFI MR AL VA SS, BRIAT M2 MEAE G
B. HFEARI S A A ZYEAR DS, BRI 1A A 28 PEAH O
C. JEFEARAT M A L YEAR DS, BRUAT R A 2R PEAH K
D. M FEAMAT M =LA DG, BRI A s 2 PEAH O

B A FEAR R A A, BlAl =0, MR = C D
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A. B. C.2 D.3

WA FFIRE M T FEHAx = 0,Bx = 0, HPA B ym x ndERE, NLLUR IEAf
e )

A7 Ax = OI\f#YZBx = OIf#, WIR(A) < R(B)

. 4#7R(A) = R(B), NlAx = Of{Jfi35) 2 Bx = OffIfif

. #iAx = 05Bx = OfFlfi#, WIR(A) = R(B)

. #R(A) = R(B), NAx = 05Bx = O[]f#
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5.9 3PAERE A FUFIEMRN 0, 1, 2, W R(A+E) + R(A-E)= ( )
A.2 B.3 C.4 D.5

6. %A, B, CiEniiilfE, EnieiifE, WaE B=E+AB C=4+ CA, N
B-Cc=(C )
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A (6 /N, B3 g, b 184D

. & M & A a1—[a+1 1 1", az=1[2 a+2 2], az=
[3 3 a+3]T&kMAMK, Mla=

2.%a=100 2 —-1]", b=[3 1 -1]", c5alEx, Hb=2da+c, NA=

3. ORI =MAERE R E B N -1, 1, 2, EN=FrsfifE, N|—-A4*+24 —E| =
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4. FFF) 13--Q2n-124--Q)INFHCN
5. W EREA = [i _13] 4 A5 =
4X1 +2x2—x3 =2

6. —TCAEFF IR TR 3%, — x, + 2x5 = 10 [IfEAN
11x1 + 3x2 =8

(95 B3I AR BUE A'BA=64+BA, Jirh A=diag(5,=,2), K
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PO (973D SRR N TR T AR :
2x1+3x, —x3—7x4, =0
3x1+x, +2x3—7x, =0
4x, +x, —3x3+6x4, =0
X1 —2x, +5x3 —5x, =0
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T, (104) BHEIFEMEA = |-2 —1 —=2|, B=(-2A)*, >R det(B)
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+. (104 BHEI IR f (xq, x5, X3) = 6x% + 5x3 + 7x3 — 4x,x, + 4tx,X5.
(1) MeBUAER, 12 XA IESE?
Q) Bit = 1, FIEACAE 500 FALRARIERL, 5 H bR 5 7 F 1) TE A28 4t
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axi+x, +x3=1
J\L (1043 E%ﬂéﬂ%‘fiﬁﬁéﬂ{ Xy tax; +x3=a,
X, + x, + axz = a?
(1) Ha A eI A ME—fiE?
(2) Ha AfFER TR ?
(3) Ha N EN AT 2/ BHErHRER.
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s (647) B n i T FEAN & 42-24-3 E =0, iEW R(A+E) +R (4-3E) = n.




